
S
PA

R
E

 P
A

R
T

S
 S

P
E

C
IA

L
 S

TA
N

D
S

24195 Speaker Mounting Brackets

24195.000.55 black
24195.000.57 white

art.-no. art.-no.pos. description black white qty

1 speaker plate 01.44.450.55 01.44.450.57 1

2 washer ø 5,3 mm 01.28.010.15 03.11.310.29 3

3 locking screw M5 x 12 mm 03.01.250.25 03.01.250.25 3

4 swivel joint 02.41.964.55 02.41.964.57 2

5 carriage bolt M8 x 20 mm 03.07.510.25 03.07.510.25 1

6 plastic end cap 25 x 25 mm 03.20.750.55 03.20.750.55 1

7 washer ø 8,4 mm 03.11.520.15 03.11.520.15 2

8 hexagon screw M8 x 35 mm 03.01.562.25 03.01.562.25 1

9 wall mount cpl. 5.24195.1.55 5.24195.1.57 1

10 hexagon thread M8 x 12 mm 03.01.521.15 03.01.521.15 1

11 angle 01.14.268.55 01.14.268.57 1

12 wire rope 03.19.102.00 03.19.102.00 1

13 cap nut M8 03.08.420.25 03.08.420.25 1

14 washer ø 8,4 mm 01.49.025.15 03.11.525.01 1

15 ring 03.15.640.01 03.15.640.01 1
SS

24195
-11/04-

1

10

7
11

12

13
14

15

2

3

4

5

6

7

8

9

2
3


